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DE EN P VN

Hebelwirkung und Drehmoment Lever Act and Torque Lever Act e Torque Pao luat Lever va Torque

Nm

T

50 mm 1000 mm B

de= Das Gebinde B ist 12 kg. Was benétigen wir fiir ein Drehmoment, wenn A 1000 mm ist,

de= Wenn wir auf den Punkt A 30 Kg pressen und um den Tank B anzuheben? ..............
wie viel heben wir am Punkt B?............ Was wenn A nur 300 mm ist? ............
en= If we press of the long leverage A 30 kilos, en= In the tank B is 12 kilos. What is required of the engine torque when A is 1000 mm
how much we will phushes on the leverage B?.......... in order to lift the thank B?
What if Ais only 300 mm? ............
pt= Se nds pressionamos da longa alavancagem de 30 quilos,
guanto vamos empurra a alavanca B? .......... pt= No tanque B é de 12 quilos. O que é necessario de o binario do motor quando A é de 1000 mm
de a fim de levantar o obrigado B? ............ ..
vh= Néu chiing ta nhan cla don bay dai A 30 kg, O que se A é de apenas 300 milimetros?

bao nhiéu chiing t6i <€ day vao don bay B? ...........
vn= Trong tank B 1a 12 kg. Nhirng gi dwgc yéu cdu clla md-men xcan ddng co khi A la 1000 mm,
dé nang thank B? ............ ..
Chi300 mmginéuAla? ...........
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